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1. The diagram shows a composite shape formed using three rectangles.

7cm
IxFzIu 2cm
Ix§
i 8cm
l—_ Scm
AxF =14 |2em
7em

Diagram not drawn to scale.

(a) Find the area of the composite shape.

L[’“ C,\/\-L

(2]
(b) Find the perimeter of the composite shape.

Z+2+9+5 45 42 +FH L
S UL em

[2]
(c) Change 6'z;’m2 into cm?. L
1M =100 %190 cm
Z
G-4m" = -9 x100% loo > 64000 o,
7
[2]
{1es23) Turn over.
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2.

(a) The nth term of a sequence is n 2 +10. Write down the first three terms of this sequence.
[\ ! y P)

atilo = 11 X l°’

(185.05)

2]

(b) The diagram shows a number machine.

Multiply
by 3

Input———> Add 6 > —— Output

(i) Find the Input to the number machine when the Output is ~18.

-y =3 = —K-€- =2

1

(ii) Write down the Output from the number machine when the Input is n.

(n+¢)x3

[2]
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(c) The diagram shows a triangle with angles, measured in degrees, of 5x, 2x and 3x.
Diagram not drawn to scale.
Form an equation in x and solve it.
e tdx +1x  (JO
lox= kO
.8
Xz g
g (31
Turn over.

(185-05)

3. The following table shows the pairs of marks obtained by a set of pupils in two science tests.

(185-05)

Science test 1 74 92 56 38 54 82

40 46 96

Science test2 | 48 64 42 24 38 56

28 32 72

(a) On the graph paper below draw a scatter diagram for these tests.

Science test 2

100

[2]

80

20

I

0 * :

0 20 40 60 80

(b) What type of correlgtiqn is shown by your scatter diagram?

: Science
100 gegt 1

Jo 3 Leve
I

(1]
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4.

(185-05)

(a) Solve the following equations.
0 3x-
5 6

9 2 Ex s

Ix 30

x z 30 2O

(i) 4x+3=2x-35

Gr-lx : =) =3

Z&;/)?

Z

(b) Factorise 7a +21.
'J-/ au—‘ﬂ

(5]

1

Turn over.
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5. (a) Andrew sells his house for £210 000.

(i) The estate agent selling the house charges 1-5% on the first £150 000 of the selling
price and 2-4% on the remainder.

Calculate the total amount Andrew has to pay to the estate agent.

o,
I'j’ /., o)c
j-u'ﬁ + foooo — o-024¥ ¢, ooo"[ [

777’& é,‘[i: é}é 7o

(ii) Charlie, Mary and Sian buy the house for £210 000.
They contribute to the cost of buying the house in the ratio 8:7:5.
How much does each contribute?

T tEFT - 'Lo,po’l'o
216 ocoé 26 = {IO/IOOpaxpa/('

Chaote pegp. £.00 Goo
Moy Zx (0 YD

T Sx 1o Yoo

Charlie contributes £.4.4.9 90
Mary contributes £ ?3)’ 0O

Sian contributes £ 52f LRSS

7

(b) Jenny bougth some jewellery, in a car boot sale, for £25. She sold the jewellery to Alan and
made a 30% profit. How much did Alan pay for the jewellery?

5ob{0]y (100 ) 27 z]-3x2r2 £3200

[3]

(185-05)

(SO 000 = 00| x Y000 = ),ZZZﬂ
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7. A solution to the equation
x*=5x-34=0

(<
5]

28cm lies between 3-7 and 3-8.
2lcm

Use the method of trial and improvement to find this solution correct to two decimal places.

>z 33 —O-OIT6U _fvo SreM
N []

B ~ 18em 3 T=3.2% + O 431 . ts 9.\,)
v

The above diagram shows a trapezium ABCD with AB = 28 cm, BC = 18 cm and CD = 21 cm

Angle ABC = 90° and angle BCD = 90°. ' 153?’6 - 0357‘27L IL‘"’ b‘b

Calculate the length of AD, giving your answer to an appropriate degree of accuracy.
.).4

Vilhag © AD = '?—lm"” e crlckom o bebsetn Zx23.25 ol X2 3-%
J v

1.

fo* = BaF Ty Pk oy > 3370 _O:13057. £os b
00"z 33 l: | 22325 b 2dp

Aos /a3’ = | S

(4]

[5]
Turn over.

(185-05)

(185-05)




8. Judith invests £600 for 2 years at 4% per annum compound interest. What is the value of her

11

investment after 2 years?

(l-ou) x b0 = Leiug’ 96

9. (a) Write down the nth term of the sequence 5, 9, 13, 17, i
Liry +
(b) The diagrams show tile patterns.
Pattern 1 Pattern 2 Pattern 3 Pattern 4
7 6 &
Find an expression for the number of tiles in Pattern n.
PAH:"K,\ [7—\'1 /-3 14 /Lv"\+ /ﬂ)\é
b, . 2¢: nl-l— N«
LUL.!—LAJ 0 auect egud Loork waﬁi
Sqesone N -
8505 k #/17 0‘( ;p& a/‘#yl\ * Turn over.
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(185-05)

12

Each lunchtime Paul either eats a packed lunch or he eats a sandwich bought in the snack bar. The
probability that he eats a packed Iunch is % . Whatever he eats for lunch the probability that he
buys a mug of tea is % .

(a) Complete the following tree diagram.

Lunch food After lunch drink
3 Tea
10

Packed
lunch

- 2

m—

1o No tea

Tea

Buys sandwich

No tea

(2]
(b) Calculate the probability that Paul eats a packed lunch and he buys a mug of tea.
> X R
s b bix
[2]
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11. The length of a roll of plastic sheeting is 500 cm, measured to the nearest 5 cm.

(a) Write down the least possible length and greatest possible length of the roll of plastic

sheeting.
8 . y<5
Least possible 1ength1{1})—cm Greatest possible len; ol):m 2] y=x-8
x<8
y = -5x

(b) A plastic sheet of length 100 cm, measured to the nearest 5 cm, is cut from the roll of plastic
sheeting. Find the least possible length of the sheeting left on the roll.

|
|
|
|
f
12. On the graph paper below, draw the region which satisfies all of the following inequalities. ‘
|
|
\
|
|

(./\ P A M (A Rou b‘ 7‘6& — MQX CGML Make sure that you clearly indicate the region that represents your answer.
M”{ / Y z x=-x% wohe x20 ,9z 0 2 = (d,'l)

vl x=r ‘{155—)’ <=3 (0;—3)

=92y _ tdoalor)

Q

-

\
Ye-Jx Vles 250, yz -Jx020 (s,0)
oo 24,97 pt=g C1,77)
9ot YV xag 2
w4 /

y

7z ol 1 O L — ¢ 1
T T T T
T T T

= ?)q)’r‘:v\

1‘ n
S
g5t
. \ L 3 '] L
fegny
ANy
\
\.\

e

et S

AN

HEnE

b N T

)
—l
SRR

Turn over.
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13. (a) Write each of the following numbers in standard form (. T Etigl e STERwsmch et Fliles S m30:5 Lo &N AT = 258 T
() 23 million Ea g 32:5cm A).;
2RY566ve0s = 2.3 x 10 ‘ "
(ii) 0-00098 #

oo gy =75 »lo

[2]
(b) Find, in standard form, the value of (54 x 10%)x (3x 10°).

62000, 000.9 = [£2x(2 7
CAAAAAANS \

21 Diagram not drawn to scale.
14. (a) The triangle ABC is such that C,A\B =90°, CB = 32 mm and A/C\B =52°, Calculate the size of Uﬁ.
A
Co &= o
po 0 by
crn TA 32.)
434
: B = £ ‘ £
c 32mm "‘z/ - : QJC«S? /32‘):/_-; 41[

Diagram not drawn to scdle. : L 4 ; ’a' / [3]
Calculate the length of AB. '

Ao = hatlx ("":)\0
S PaTEXHL
979.7 mm

\

(3]

Turn over.

(185.05)
(185-05)
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15. Find the standard deviation of this set of ten numbers. (b) Three points P, Q and R lie on the circumference of a circle.

The tangent XY touches the circle at R.
4, 8 7, 3, 5 6 1, 9, 5 4

IF [k ek fos b oL i on
ag")"’ C@ééof-).

Q

3]

16. (a) Four points A, B, C and D lie on the circumference of a circle.
The lines AC and BD intersect at the point F.

4 ' Diagram not drawn to scale.

A
Given that R;’\Q = 70° and Paﬂ = 68°, find the size of PRX, giving a reason for your
answer.

youl) I

~ 2 )
PExX -8y ( Nltonule yﬂ;;w«’r oo

[2]
D

Diagram not drawn to scale.

A A A )
Given that AFD = 45° and BDC = 20°, find the size of ABD giving a reason for your answer.

A R~
KEA Zlso-4) = 1)) ( struglsd (10
A - [2]

L Turn over.

(185-05)
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17. The diagram shows a trapezium.

(2x -3)cm

: Area =70 cm®
(4x + 6)cm

AN
-

10cm

Diagram not drawn to scale.
The parallel sides of a trapezium are of lengths 10 cm and (2x — 3) cm. The height of the trapezium
is (4x + 6) cm and its area is 70 cm?.

(a) Show that 4x” + 203 — 49 =0.

Arem ¢ 1[{2e3)+10) (e 6) =70
=t i
<L (2 +F)(Ur+e) =[%4©
Tttt 250 w42~ 1o O
§x'+ Liox — 9§ 20
2L Lix 1oy —49 =20
AzY bslo <=-47 . B3l

(b) Use the quadratic formula to solve the equation 4x> + 20x — 49 = 0. Give your answers
correct to one decimal place.

e =201t 20" Uxttx"49

L4 oy ,
e <20 [too +F)y = =20 /115Y
i &

eMoxz =20 #/1108 = 18 20 2 = 0=/ 180 -6

7 &

[31
(c) Hence write down the height of the trapezium.

Liscl ¥ +6 I 13.2 <an

1]

(185-05) Turn over.

20

18. An international clothing manufacturer employs people in Peru, Mexico, Finland, Thailand and

Vietnam.
The number of people employed by the clothing manufacturer in each country is given in the
following table.

Country Number of employees

Peru 564 1)
Mexico 346/
v

Finland 320 ) '{‘ - 56/2

Thailand 2130

Vietnam 3450 )

The clothing manufacturer is arranging a fashion show and decides to invite a total of 18
employees to represent all the employees in the five countries.

Use a stratified sampling method to calculate how many people from each country should be
invited to the fashion show.

lare = Se4 . Lf Z 149 1 perro~
Eylo ’
Manes < w6 (Y2 O-q] - {pes—
. §xLo ’
EPirld = 310 Iy 2065 =1 pope_
&&lo ' "
Thalblz 2130 (1 25.6 74 P—”p“’
Eyio
Vidkunz 30,02 911 = T penyle
gyLs J

'\

- b
y

(185-05)
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19. You are given that JL = 3x + 2y, LM = 5x — 2y and MN = 20x - 8y.

(a) Express JM in terms of x and y in its simplest form.

Tz T+l M =

3;4»24 éfzvzv f

(k) O
LN = [MMN = Tx '1'1 +20 - F.,,

(2]

Show that LN = k LM where the value of the constant k is to be found.
25 =0y ]
(/4

hok =M 2 5x:2g L% Nz S EM,

(ii) What can you say about epomtsL M andN?
hla an..on..) /wn ‘u\&

{1

(185-05)

{1

Turn over.
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20. The diagram shows triangle ABC.

Diagram not drawn to scale.

. o
Given that BAC = 72°, AB = 62 cm and that the area of the triangle ABC is 42-6 cm?, find BC.

Are- é_x S ET

Tz 3T nbe L

N Y TR

e SinFL

{185-05)

[6]
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